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1.

PART—I

( GENERAL STUDIES )

10 years ago the ratio of ages
of Ramesh and Rajeev was 1 : 3.
S years hence this ratio will
become 2 : 3. What is the ratio
of their ages at present?

(A) 2:5
B) 3:5
Cc 1:2

(D) More than one of the above

(E) None of the above

If I walk with a speed of 5 km
per hour from my house to the
station, my train would have left
the station 7 minutes before my
arrival. But, if I walk with a
speed of 6 km per hour, [ will
reach the station S5 minutes
before the departure of my
train. Accordingly, what is the
distance between my house and
the station?

(A) 7 km
(B) 65 km
(C) 6 km

(D) More than one of the above

(E) None of the above

17/MV/M-2023-01-10 (S)/9-A

3. The average monthly income of

P and Q is ¥ 5,050. The average
monthly income of Q and R is
¥6,250 and the average
monthly income of P and R is
¥ 5,200. The monthly income of
P is

(A) ¥ 3,500
(B) ¥ 4,050
(C) ¥ 4,000

(D) More than one of the above
(E) None of the above

If 30% of P is added to 40%
of Q, it becomes 80% of Q.
Accordingly, what is the
percentage of Q with respect
to P?

(A) 40%
(B) 50%
(C) 75%

(D) More than one of the above
(E) None of the above

A sum of money is to be
distributed among A, B, C, D in
the proportion of 5:2:4:3. If
C gets ¥ 1,000 more than D,
what is B’s share?

(A) ¥ 500
(B) ¥ 1,500
(C) ¥ 2,000

(D) More than one of the above
(E) None of the above



1.

PART—I

( GENERAL STUDIES )

10 a9 qd WY @ TSE A A H
YA 1: 3 A F F 5 ¥ 9w T8
U 2 : 3 B S| FdHE § 3!

1Y T U T 27

(A) 2:5

B) 3:5

C 1:2

(D) 39w | ¥ UH ¥ M

(E) 30 | ¥ 18

gfe § 3199 = ¥ 5 foho o ufdq wer i
T & XM % U = g, at vl me
T I TEEE ¥ 7 e v g2 g
At 21 g afe & 6 fRo o ufa =i
1 Tfd @ =eran g, a1 § WIE WML h
T ¥ 5 e wed wga S g
TEgER, W 3R WIE o o= H gl
ERI A

(A) 7 feRo Hto

(B) 65 Teho o

(C) 6 feho o

(D) 30w W | TH § Afh
(E) Sudth § & #1$ T
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3. P 3R Q i fud wGw A

¥ 5,050 21 Q 3R R & 0Eq ATt
g € 6,250 8 9A1 P 3R R Fi 3Nwd
mfees 3 € 5,200 ®| P il AiiEes
I 2

(A) ¥ 3,500

(B) ¥ 4,050

(C) ¥ 4,000

(D) 39w H ¥ UH ¥ M+
(E) 3udth § & 1S T

. e P # 30%, O % 40% U e fan

S, 9 98 O H 80% @ Sl ®|
TEFER Q, P 1 foha wferera 27

(A) 40%

(B) 50%

(C) 75%

(D) 3w W | TH § AfUeh
(E) 3udth # & 1S 7

. A B C,D&dH5:2:4:3%

3T & o 1 T o 5 21 afe
C &I D& T 1,000 ftre firera 8, @
B = fewdn = 27

(A) ¥ 500

(B) ¥ 1,500

(C) ¥ 2,000

(D) 39w | ¥ UH ¥ M
(E) 3udth § & 1g T
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6. A shopkeeper gives a discount
of 5% on the selling price of a
watch. If he gives a discount of
6%, he will earn a profit which
is ¥ 15 less than the before.
Accordingly, what is the marked
selling price of that watch?

(A) ¥ 1,400
(B) ¥ 1,500
(C) ¥ 1,800

(D) More than one of the above

(E) None of the above

7. Three numbers are in the ratio
3 :4:5. The total of the largest
and the smallest numbers is
equal to the other number
plus 52. Accordingly, which is

the smallest number?
(A) 27
(B) 39
(C) 52
(D) More than one of the above
(E) None of the above
8. If22n1= el then the value
of n is
(A) 3
(B) 2
€ -2

(D) More than one of the above

(E) None of the above

17/MV/M-2023-01-10 (S)/9-A

9. Which of the following photo-
electric devices is the most
suitable for digital applications?

(A) Photo-voltaic cell
(B) Photo-emissive cell
(C) Photo-diode
(D) More than one of the above
(E) None of the above

10. The critical mass of a fissionable
material is
(A) one kilogram equivalent
(B) the minimum mass needed

for chain reaction
(C) the rest mass equivalent to
1010 joules

(D) More than one of the above
(E) None of the above

11. Which of the following gases is
used to force the ripening of
fruits?
(A) Ethane
(B) Ethylene
(C) Methylene
(D) More than one of the above
(E) None of the above

12. Which one of the following has
zero octane number?
(A) Iso-octane
(B) Neo-octane
(C) n-octane
(D) More than one of the above
(E) None of the above
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6. T% GHMER UH HEl d=d 99d forshl 4o

W 5% T2 @ 2l AT T/ W W 6%
FeIqa e, a1 W U ° T 15 FH H
A TR | degEr, 39 HSl 1 3fohd
fersht T = 27

(A) ¥ 1,400

(B) € 1,500

(C) ¥ 1,800

(D) 39w H ¥ UH ¥ M+
(E) 3udeh # & 1S 7

. @9 w=d 3:4:5 % gdd H gl
ITH a9 JE Ud gl DI TEATRA I
AT, A @A qAT 52 % AN o TR
3| TEIUR, ol B GEAT HA-HT 27
(A) 27

(B) 39

(C) 52

(D) 3w U | TH A Al

(E) 3T | ¥ *18 e

8. aﬁ22n_1:8nl_3,?ﬁnaﬂm%

(A) 3

B) 2

(C) -2

(D) 39w | ¥ TH ¥ M
(E) 3udth # ¥ #1$ T
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9. fmfafgd & ¥ &HH-A1 ®RI-TGEH

10.

11.

12.

Iy fefved gy & fou de
I &7

(A) ®RI-Ffees o

(B) WIeI-3cEsieh U

(C) WIRI-SriTe

(D) 39w W | TH § AfUh

(E) 3 § & 1S T

Trelt Tor@ S 39 w1 Wi FeaH

=l

(A) T Tt wnged

(B) et aifufshan v Tawash =aw
ESbit]

(C) 10! et % wAged form FomH

(D) 39w H ¥ TH ¥ 1M

(E) 3udth # @ 1$ T

el ol STeRaEdt qeh o forg frefatea
o @ form g 1 3T foRern A 27
() 3

(B) uferet

(C) uforef=

(D) 30w U | TH § Al

(E) 3udth # & 1S T

frafafeaa & @ ot stfaa @@
T 87

(A)  3HTEEI-STFA

(B) faefi-ataeq

(C) n-3ATFA

(D) 39w | ¥ UH ¥ 1M

(E) 3udth § & #1g T
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13.

14.

15.

16.

The edible part of Litchis is
(A) aril

(B) thalamus

(C) seed coat

(D) More than one of the above

(E) None of the above

The physical process involved in
the release of molecular oxygen
from leaves is

(A) diffusion

(B) transpiration

(C) osmosis

(D) More than one of the above

(E) None of the above

The process of finding the
relative location of genes on a
chromosome is called

(A) genome walking

(B) chromosome walking

(C) gene mapping

(D) More than one of the above

(E) None of the above

Spore mother cell in bryophytes
is

(A) haploid
(B) diploid
(C) triploid

(D) More than one of the above

(E) None of the above
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17.

18.

19.

20.

In which year was NGT (National
Green Tribunal) for protection
of environment and forest
established by the Government
of India?

(A) 2010
(B) 2011
(C) 2012

(D) More than one of the above
(E) None of the above

Which city of India started first
under-water metro?

(A) Kochi

(B) Visakhapatnam

(C) Bengaluru

(D) More than one of the above
(E) None of the above

Under India’s G20 Presidency,
where was the Tourism Working
Group Meeting held?

(A) Patna (Bihar)
(B) Srinagar

Kashmir)
(C) Ramnagar (Uttarakhand)
(D) More than one of the above
(E) None of the above

(Jammu and

Who among the following got
the Silver Medal in the National
Under-17 Girls Wrestling
Championship?

(A) Liza Tomar

(B) Nirjala

(C) Pushpa Yadav

(D) More than one of the above
(E) None of the above



13.

14.

15.

16.

of=ht = @ T R

(A) i

(B) em|

(C) i< =i

(D) 39w H ¥ TH ¥ M
(E) 3udth # & #1$ T

ruiferes ATRdfiS ST Ot | faeRer
-4t ofifos foram 27

(A) oo

(B) aTSHIcEs

(C) R

(D) 3w U | TH § Afh

(E) 3udeh # & 1S 7

foredt o W SfET Gt et feafa
T A Y TR FEed B

(A) S 1 T

(B) O =T <A

(C) SiF Tt

(D) 39w H ¥ UH ¥ M
(E) 3udth # & #1$ T

STEEIEE o SfIST] |G IR Bl B
(A) T

(B) femfora

(C) Ffora

(D) 39w | ¥ UH ¥ M+

(E) 3udth § @ #1$ T
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17.

18.

19.

20.

T TRR R Jfar0r 7R a9 <t graf
# fau frm ad NGT (fema o=
o) <t T 1 TS oft?

(A) 2010

(B) 2011

(C) 2012

(D) 39w | ¥ TH ¥ M=

(E) 3w & @ 18 7t

Id & fFe T 3 9o TR U %
= At i yEeTTa HrY

() ==

(B) feremardmm

(C) STege

(D) 39w | ¥ UH ¥ M+

(E) 3w @ 4 g T

IRA G20 FeAFA H e FrREg
! 93 el g3 i

() e (forer)

(B) #FT (S 3R F7Hi)

(C) TR (IHTEE)

(D) 39Y® | ¥ TH ¥ M

(E) 3w | § Hig Tl

T ° frm wiE eAeR-17 anforeR
Fct SrfafT § §d gee T fRer?
(A) s AR

(B) fste

(C) g Ared

(D) 39w | ¥ UH ¥ M+

(E) 394 # & hrg 7

7 T e.r.o.



21. Who won the International 25. Match List-I with List-II :
Booker Prize, 2022 for the novel,

Tomb of Sand? List—I List—II

(A) Geetanjali Shree and Daisy a. Char 1. Punjab plain
Rockwell

(B) David Diop and Anna b. Kankar 2. Delta
Moschovakis c. Kayal 3. Bangar

(C) Marilyn Booth and Jokha
Alharthi d. Mand 4. Coastal plain

(D) More than one of the above

(E) None of the above Select the correct answer using

the codes given below.

22. Who was the Chief Guest on &) a b c d
India’s 74th Republic Day? 1 4 2 3

(A) Mohammed bin Salman
(B) Abdel Fattah EI-Sisi B) a b ¢

(C) Sheikh Mohammed bin
Rashid Al Maktoum

(D) More than one of the above ) a b ¢ d
(E) None of the above 3 4 2

N
w
N
—

[a—Y

D) M th f the ab
23. In which district of Bihar, the (D) ore than ohie of the above

first floating solar power plant
has been built?

(A) Darbhanga

(B) West Champaran

(C) Madhubani

(D) More than one of the above
(E) None of the above

(E) None of the above

26. Which of the following
tributaries does not join
Brahmaputra river from north?

(A) Subansiri
24. Which of the following has got
GI Tag in Bihar? (B) Belsiri
(A) Maghai Paan
(B) Basmati Rice
(C) Chanderi Saree
(D) More than one of the above
(E) None of the above (E) None of the above

(C) Manas

(D) More than one of the above
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21. UM 7 3 G % folU FRigE 25. -1 F -1 & gafaa i
TR G, 2022 Tore sfiar?

(A) T of i S T Tz -
(B) =fug feam iR om=n Arepiantsa a. =R 1. oo 1 Hed
(C) Hfe g1 R S steareff b A
(D) 39w | ¥ UH ¥ M+
(E) 30w § & i c. &EA 3. amm
d. we 4. @ Tem
22. 9RA % 749 A faw W wE g
s 47 = fow T g oM W Al IW
(A) e o Jomm ﬂﬁ"ﬂ
(B) Todd %ag e -Tot
(C) @ Higme fot Tl a1t weham (A) ? Z ; g
(D) 39w | ¥ TH ¥ M
‘ : B) a b c
(B) 37w 5 & s 7 2 3 4 1
23. fogr & form foer § wow o g3 e € a b ¢ d
Sl GI SR T R Y 3 1 4 2
(A) = (D) I & ¥ TF § e
" Sl H @ i
E
©) g ")
(D) 39y H ¥ TH ¥ M
(E) 3 # & g e 26. frfafad & ¥ FA-@ wEEE @
FEgA ¥ I fown & T frerdt 27
24, foer # f=fafas @ @ fR GI 2w
forem 27 (A) g
(A) TTE A (B) seAfet
(B) <EHd =TEd (©) W
(C) =it @t ‘
(D) 30w W | TH § Afeh (D) 3T & 7% § wifers
(E) 3w & & 15 T (E) 393 & & g T
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27. Likhapani glacier is located in

28.

29.

which State of India?

(A) Arunachal Pradesh

(B) Himachal Pradesh

(C) Sikkim

(D) More than one of the above

(E) None of the above

Magadha and Anga plains are
parts of

(A) upper Ganga plain

(B) middle Ganga plain

(C) lower Ganga plain

(D) More than one of the above

(E) None of the above

Which of the following pairs of
waterfalls and rivers is not
correctly matched?

(A) Jog—Sharavati

(B) Kapildhara—Kaveri

(C) Dhuandhar—Godavari

(D) More than one of the above

(E) None of the above

17/MV/M-2023-01-10 (S)/9-A

30. Arrange the following seaports of

India from north to south :
1. Kakinada

2. Machilipatnam

3. Nagapattinam

4. Visakhapatnam

Select the correct answer using
the codes given below.

A 1,2, 3,4
B) 4,1,2,3
< 1,3,2,4

(D) More than one of the above

(E) None of the above

31. The Agreement of Kosi Irrigation
and Hydroelectricity Plan in
1954 was signed between which
two countries?

(A) India and Bangladesh

(B) India and China

(C) India and Nepal

(D) More than one of the above
(E) None of the above

32. In which climatic division does
Bihar fall as per R. L. Singh’s
classification scheme?

(A) Humid south-east
(B) Subhumid transitional
(C) Subhumid continental
(D) More than one of the above
(E) None of the above
10 [l RN R RO AR



27. TEmH faae yra & fefatas @ @

28.

29.

fora T=a 4 feora 77

(A) TR 3T

(B) Tenreret e

(C) fufem

(D) 39Y® | ¥ TH ¥ M
(E) 3w & & 18 7t

Y TS S 1 HeH e fee 87
(A) T T H B

(B) TeF T H1 B

(C) =t 7 =1 Bem

(D) 39w | ¥ UH ¥ M

(E) 3udth # & #1$ T

SAYaTd 3T et o fefefaa sl 8 9
HH-|1 ST el gufera A&t a7

(A)  STT—Irerdt

(B) HiUCTERI—ahIadt

(C) YATaR—eEadt

(D) 39w | ¥ TH ¥ M
(E) 3udth # & #1$ T
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30. wid & f=fafiaa seumE = I 4

31.

32.

afequr faem ® afeda il
1. RS

2. HSAIEH

3. Ammfgm

4, foemETTE

f= fau MU Fe W oW W A IW
|

A) 1,2, 3,4

(B) 4,1, 2,3

C 1, 3,2, 4

(D) 39w | ¥ TH ¥ 1M

(E) 39t # & 1g T

1954 & foF 3t auit % oftm wreft fmrg
TH Sefored, IRESET T geatd

IR

(A) TR TR TFATSIT
(B) wRaay iR ==

(C) 9Raay 3R Juret

(D) 39w | ¥ UH ¥ M+
(E) 394 H ¥ HI3 T

Ao Tdlo ﬁTS' & offeRtor whg
AR, foEr fFe TR o Saarg wew
T T 87

(A) =18 sferor-gd

(B) 39T THHUTRICAH

(C) 3uTE weTgd

(D) 39y | ¥ TH ¥ M
(E) 39tk # & 1$ T
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33. In which Session of the Indian 37. Which portfolio did Dr. Rajendra
National Congress was the Prasad hold during the Interim
resolution of ‘Purna Swaraj’ Government of 19467?
adopted? (A) Defence
(A) Kanpur Session, 1925 (B) Home
(B) Lahor;Sessi(‘)n, 1929 (C) Food and Agriculture
(g) ;(/Iaracthl Sess1on1: tligs{b (D) More than one of the above
:E)) Nc‘)’;ee Ofa?hzn:bive ©above (E) None of the above

38. Wh th followi

34. What was an initial objective of o amons © OLOWINE
. , . ) particularly urged Gandhiji to
Kuka Movement’ in Punjab? visit Champaran to witness the
(A) To purify the Sikh religion miseries of the Ryots?

(B) ’;o ga]ijn political power in (A) Brijkishore Prasad
unja
@ (B) Rajkumar Shukla
(C) Organization of peasant
movement (C) Sukhram Ganesh
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above

35. Who described the Revolt of 39. The Day of Deliverance’ was
1857 as the ‘First Indian War of observed by the Muslim League
Independence’? on which date?

(A) V. D. Savarkar (A) 22nd December, 1939

(B) Bal Gangadhar Tilak (B) 17th October, 1939

(C) Bipin Chandra Pal (C) 22nd December, 1940

(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above

36. Where was the first instance of 40. Who laid the foundation stone
organTzed non—cqoperatlon m of National College and Bihar
;h?dzustory of Indian peasantry Vidyapeeth?

eld? .
(A) Bihar and Bengal (A) Dr. Rajendra Prasad
(B) Madras Presidency (B) Maulana Abdul ]?an
(C) Punjab Province (C) Mahatma Gandhi
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
17/MV/M-2023-01-10 (S)/9-A 12 [ AR R RO AR



33.

34.

35.

36.

IR T wOE % e eriewE d
qul TSt 1 T R g3 o

(A) FHE AfrewHE, 1925

(B) <R AfrawM, 1929

(C) =t @M, 1931

(D) 39Y® | ¥ TH ¥ M

(E) Sudth # & #1$ T

USTTE H ekl STl Rl TR 32w
eI

(A) @ g =t aftepd wE

(B) USTE H TSHIfeh Ik UTH AT
(C) TFH =T HT TS

(D) 39w | ¥ TH ¥ M

(E) 3udth # & #1$ T

1857 % fusie = fruss 3@ ‘wem
IR Tadaar @um’ % &9 gfid
o T e?

(A) o Elo AT

(B) et TR feretsh

(C) faftm ==z urat

(D) 39w H ¥ UH ¥ M

(E) 3udth # & 1S T

g ot % sfoem # @fea
STHEANT 1 T 3T el Hfed gl
oaT?

(A) forer 3 sme

(B) w5 SEfeE

(C) uSITa ifa=d

(D) 3wtk & & T @ enferen

(E) 3udth # & #1$ T
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37.

38.

39.

40.

¥ 1946 # I I<fH WeR H
fo TS5 YHE o UE hiH-dT faam
o7

(A) T

(B) T®

(C) T wd FY

(D) 39w | ¥ UH ¥ M+

(E) 3w & 9 18 T

Tiefisht =t faei €0 @ TR0 3 3R
TET % Fehi hl g fefa =it 3@ g
R a1 fomam on?

(A) PRI S

(B) USIHHT IFc

(C) Gt Torer

(D) 39w | ¥ TH ¥ M

(E) 3udth # @ 1$ T

yfeem o gr frw fafa 0 ‘gfe R
AT T ATY

(A) 22 fearr, 1939
(B) 17 3TN, 1939
(C) 22 feawr, 1940
(D) 39w | ¥ TH ¥ M
(E) 3udth # & #1$ T

WEA s 3R TR fommdis ==
o= fre foma en?

(A) Efo TSIE TETE

(B) HIGTHT 3155 aIRY

(C) W et

(D) 39Y® | ¥ TH ¥ M
(E) 3udth # & 1$ T
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PART—II
( ENGLISH )

Directions (Q. Nos. 41 to 65) : Read the passage given below and answer the
questions that follow.

It is a cold night in December and in a remote village, an old storyteller is sitting by
the hearth-fire with a group of students who have come home for the winter
holidays. They love visiting her to listen to her stories, but tonight Granny is not
her usual chirpy self; she looks much older and seems to be agitated over
something. One of the boys asks her whether she is not feeling well and tells her that
if so, they can come back another night. But instead of answering the question, the
old woman starts talking and tells them that on a certain night a peculiar wind
blows through the village, which seems to start from the region of the graveyard and
which sounds like a hymn. She also tells them that tonight is that kind of a night. At
first the youngsters are skeptical and tell her that they cannot hear anything and
that such things are not possible, but the old woman rebukes them by saying that
they are not paying attention to what is happening around them. She tells them that
youngsters of today have forgotten how to listen to the voice of the earth and the
wind. They feel chastised and make a show of straining their ears to listen more
attentively and to their utter surprise, they hear the beginning of a low hum in the
distance. They listen for some time and tell her, almost in triumph, that they can
hear only an eerie sound. ‘No’, the storyteller almost shouts, ‘Listen carefully.
Tonight is the anniversary of that dreadful Sunday.’ There is a death-like silence in
the room and some of them begin to look uneasy because they too had heard vague
rumours of army atrocities that took place in the village on a Sunday long before
they were born. Storyteller and audience strain to listen more attentively and
suddenly a strange thing happens : as the wind whirls past the house, it increases
in volume and for the briefest of moments, seems to hover above the house. Then it
resumes its whirling as though hurrying away to other regions beyond human
habitation. The young people are stunned because they hear the new element in the
volume and a certain uncanny lilt lingers on in the wake of its departure. The old
woman jumps up from her seat and looking at each one in turn asks, ‘You heard it,
didn’t you? Didn’t I tell you? It was Apenyo’s last song’ and she hums a tune softly,
almost to herself. The youngsters cannot deny that they heard the note but are
puzzled because they do not know what she is talking about. As the old woman
stands apart humming the tune, they look at her with wonder. There is a peculiar
glow on her face and she seems to have changed into a new self, more alive and
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animated than earlier. After a while a young girl timidly approaches her and asks,
‘Grandmother, what are you talking about? Whose last song?’

The old storyteller whips around and surveys the group as though seeing them for
the first time. She then heaves a deep sigh and with infinite sadness in her voice,
spreads her arms wide and whispers, ‘You have not heard about that song? You do
not know about Apenyo? Then come and listen carefully ...

Thus, on a cold December night in a remote village, an old storyteller gathers the
young of the land around the leaping flames of a hearth and squats on the bare
earth among them to pass on the story of that Black Sunday when a young and
beautiful singer sang her last song even as one more Naga village began weeping for
her ravaged and ruined children.

[An extract from ‘The Last Song’ in These Hills Called Home, by Temsula Ao,
Penguin Books, New Delhi : 2006, p.31-33]

41. Why was the grandmother 43. What does the term ‘hearth-fire’
listless that night? indicate?
(A) She was unwell (A) Fireplace
(B) She was too old (B) Stove
(C) She was anxious (C) Grate

(D) More than one of the above (D) More than one of the above

(E) None of the above (E) None of the above

44. What was so special about ‘that

42. How best can one describe the .
night’?

character of the storyteller?
(A) It was a stormy night with

(A) Garrulous and  cantan- incessant thunder and rain

kerous old woman
(B) It was that fateful night

(B) Cheerful and lively old lady when a peculiar wind blew

(C) Indolent and grumpy old (C) It was a silent night when

lady the moon had a lurid glow
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
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45. What is the trajectory that the

46.

song takes in the story?

(A) The song arises from the
graveyard filling the whole
village and  disappears
beyond human habitation

(B) The song arises from the
graveyard filling the whole
village with good cheer and
dissipates into nothingness

(C) The song arises from the
graveyard filling the whole
village with sadness and
fades away gradually

(D) More than one of the above

(E) None of the above

Why do listeners gather to
hear stories at night in remote
villages upon the hills of
North-East India?

(A) They are engaged in
factories and offices during
the day

(B) They are engaged in their
farms, collection of fire-

wood and water, and other
mundane affairs

(C) They are engaged in the
textile and mining industry

(D) More than one of the above

(E) None of the above
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47. Pick out a synonym for the word

‘rebuke’ from the extract.

(A) Chastised

(B) Agitated

(C) Ravaged

(D) More than one of the above

(E) None of the above

48. Which word in the story indi-
cates supernatural elements?
(A) Eerie
(B) Uncanny
(C) Uneasy
(D) More than one of the above
(E) None of the above
49. Describe the look on the
storyteller’s face when they all
clearly hear the tune of the
song.
(A) Stunned
(B) Alive and animated
(C) Puzzled
(D) More than one of the above
(E) None of the above
50. How would you describe the
listeners?
(A) As casual and irresponsible
(B) As carefree and light-
hearted
(C) As polite and considerate
(D) More than one of the above
(E) None of the above
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51.

52.

53.

54.

What is the role of the storyteller
in Naga society?

(A) A bearer of traditional lore
(B) A bearer of history

(C) A bearer of truth

(D) More than one of the above
(E) None of the above

Which colloquial word is an
equivalent of the term
‘erandmother’ that has been

used in the extract?

(A) Grandma

(B) Granny

(C) Matriarch

(D) More than one of the above
(E) None of the above

Why does the storyteller feel that
the ‘youngsters of today have
forgotten how to listen to the
voice of the earth and the wind’?

(A) As they are skeptical

(B) As they are inattentive
(C) As they are disbelievers
(D) More than one of the above
(E) None of the above

What is the initial note of the
song compared to in the extract
of the story?

(A) A hymn

(B) Blowing of a peculiar wind
(C) A low hum

(D) More than one of the above
(E) None of the above
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55. Pick up an equivalent of the
word ‘cadence’ or ‘rhythm’ from
the extract of the story.

(A) Hum

(B) Lilt

(C) Tune

(D) More than one of the above
(E) None of the above

56. Which phrase in the extract of
the story describes the feeling of
surprise or astonishment with
reference to the storyteller?

(A) Peculiar glow on her face

(B) More alive and animated

(C) As though seeing them for
the first time

(D) More than one of the above

(E) None of the above

57. The narrator seemed out of joint
because
(A) she was unwell
(B) she was listless
(C) she was trapped in dark

thoughts
(D) More than one of the above
(E) None of the above

58. Which phrase in the extract is
a close equivalent of ‘pin-drop
silence™
(A) Death-like silence
(B) Haunted silence
(C) Icy silence
(D) More than one of the above
(E) None of the above
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59. What made the listeners

‘skeptical™?
(A) They were educated

(B) They were rational

(C) They could hear nothing

(D) More than one of the above

(E) None of the above

60. Which elemental feeling is most

prominent in the story?

(A) Tragic
(B) Elegiac
(C) Ghostly

(D) More than one of the above

(E) None of the above

61. Which word in the extract is
closest in meaning to the phrase

‘whips around’™?
(A) Whirling

(B) Hover

(C) Blows

(D) More than one of the above

(E) None of the above

62. Why is the narrator described as

‘chirpy’?

(A) As she chirps like a bird

(B) As she is cheerful

(C) As she is ill-tempered

(D) More than one of the above

(E) None of the above
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63. What memories did the song
bring back to the narrator and
the listeners?

(A) Anniversary of that dreadful
Sunday

(B) Death anniversary of
Apenyo

(C) An incidence of violence

(D) More than one of the above

(E) None of the above
64. Why is that particular day
referred to as ‘Black Sunday’?
(A) Death of Apenyo and
atrocities suffered by the
villagers on a certain
Sunday

(B) Religious associations
with the crucifixion of Lord
Jesus Christ

(C) Atrocities suffered by the
villagers on a certain
Sunday

(D) More than one of the above

(E) None of the above

65. Why do you think the narrator
‘squats on the bare earth’?

(A) She was too poor to have
furniture

(B) She didn’t like sitting on
stools and chairs

(C) It was a common way of
sitting by the village folk of
Nagaland

(D) More than one of the above

(E) None of the above
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Directions (Q. Nos. 66 to 75) : Read each of the following sentences to find out
whether there is an error or errors in any underlined part(s). If you feel that there is
no error in a sentence, write (E) to signify ‘None of the above’.

66. Distribute these mangoes between all the fifty students.
(A) (B) (©)

More than one of the above None of the above
(D) (E)

67. Unless you don’t work hard, you can’t get success.
(A) (B) ©)

More than one of the above None of the above

(D) (E)
68. Start early, lest you should miss the train.
(A) (B) (€)
More than one of the above None of the above
(D) (E)
69. He talked as if he was a mad. More than one of the above
(A) (B) (©) (D)

None of the above
(E)

70. My watch, which was damaged is now useless.
(A) (B) ©)

More than one of the above None of the above
(D) (E)
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71. She ought to have obey her parents. More than one of the above
(A) (B) (©) (D)

None of the above
(E)

72. You will get wet if you will go out in the rain.
(A) (B) (€)

More than one of the above None of the above
(D) (E)

73. He is one of greatest leader of my country.
(A) (B) ©)

More than one of the above None of the above
(D) (E)

74. Neither you nor he are guilty. More than one of the above
(A) (B) ©) (D)

None of the above
(E)

75. Neither of the three pens will do. More than one of the above
(A) (B) (€) (D)

None of the above
(E)
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76.

77.

78.

17/MV/M-2023-07 ENG (S)/9-A 2

She alone in the city for
almost a decade now. (Use past
perfect continuous)

(A) has been living

(B) had been living

(C) was living

(D) More than one of the above

(E) None of the above

He fled where his pursuers
could not follow.

The underlined section is
(A) an adjective clause
(B) an adverb clause

(C) an adverb phrase

(D) More than one of the above
(E) None of the above

The umbrella with a wooden
handle is mine. (Identify the

correct clause/phrase for the
underlined part)

(A) An adjective clause

(B) An adverb clause

(C) An adverb phrase

(D) More than one of the above

(E) None of the above

fury

79. I have some duties. I must
perform them. (Use an infinitive
to join the sentences)

(A) I must perform the duties
that I have.

(B) I must perform some of the
duties that I have.

(C) I have some duties to
perform.

(D) More than one of the above

(E) None of the above

80. He deserved to succeed. He
failed. (Use an adverb or an
adverbial phrase to join the
sentences)

(A) He deserved to succeed but
he failed.

(B) He failed undeservedly.

(C) He failed though he
deserved to succeed.

(D) More than one of the above

(E) None of the above
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81.

82.

Her husband died. She heard
the news. She fainted. (Use a
preposition with a noun or
gerund to join the sentences)

(A) She fainted when she heard
the news of her husband’s
death.

(B) On hearing the news of her
husband’s death she
fainted.

(C) As soon as she heard the
news of her husband’s
death she fainted.

(D) More than one of the above

(E) None of the above

He jumped up. He ran away.

(Use a participle to join the
sentences)

(A) Jumping up he ran away.

(B) He jumped up and ran
away.

(C) He ran away after jumping
up.

(D) More than one of the above

(E) None of the above
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83.

84.

85.

Insert the punctuation marks in
the following :

She read the short story Kafan
and adapted it to a radio play

(A) She read the short story
“Kafan” and adapted it to a
radio play.

(B) She read the short story
‘Kafan’ and adapted it to a
radio play

(C) She read the short story
‘Kafan’ and adapted it to a
radio play.

(D) More than one of the above

(E) None of the above

If he is at home, I shall see him.
It is a

(A) simple sentence

(B) compound sentence

(C) complex sentence

(D) More than one of the above
(E) None of the above

You must hurry or you will miss
the train.

It is a

(A) simple sentence

(B) compound sentence

(C) complex sentence

(D) More than one of the above

(E) None of the above
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Directions (Q. Nos. 86 to 95) : Choose
the correct option of the following

questions.

86. You ate fish’ is an example of

87.

(A) clause

(B) phrase

(C) sentence

(D) More than one of the above
(E) None of the above

Which one of the following
options is correct about the
sentence, “That which cannot be
read.”?

(A) Ilegible

(B) Ineligible

(C) Invisible

(D) More than one of the above

(E)

None of the above
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88. The

antonym of the word

‘scurrilous’ is

(A) outrageous
(B) decent
(C) moderate
(D) More than one of the above
(E) None of the above
89. I left that house.”
What is the underlined word
‘that’, according to the English
grammar?
(A) Demonstrative pronoun
(B) Adverb
(C) Noun
(D) More than one of the above
(E) None of the above
90. The correctly spelt word in the
following is
(A) Synchronize
(B) Synchromize
(C) Syncronize
(D) More than one of the above
(E) None of the above
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91. The misspelt word in the 94.

following is

(A) Irrepressible

(B) Beaurocracy

(C) Pussilanimity

(D) More than one of the above

(E) None of the above

92. A person who is bad in spelling
is known as

(A) philogynist
(B) phonologist

(C) cacographist

95.

(D) More than one of the above

(E) None of the above

93. The word most nearly opposite
to the word ‘opprobrious’ is

(A) Vituperative

(B) Complimentary

(C) Truculent

(D) More than one of the above

(E) None of the above

The term ‘quinquennial’ stands
for

(A) happening in four years

(B) happening in six years

(C) happening in seven years

(D) More than one of the above

(E) None of the above

A compound sentence consists
of

(A) two principal clauses

(B) one principal clause

(C) one principal clause and
one subordinate clause

(D) More than one of the above

(E) None of the above
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96.

97.

The Prince said, “It gives me
great pleasure to be here this
evening.” (Change into reported
speech)

(A) The Prince said, it gives me
great pleasure to be here
this evening.

(B) The Prince said, it gave me
great pleasure to be here
this evening.

(C) The Prince said, it had given
him great pleasure to be
here this evening.

(D) More than one of the above

(E) None of the above

He inquired whether his name
was not Ahmed. (Change into
direct speech)

(A) He said to him, TIs not your
name Ahmed?’

(B) He said to him, “Is not your
name Ahmed?”

(C) He said to him,
name not Ahmed?’

Is your

(D) More than one of the above

(E) None of the above
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98. dot your is and cross your ts

then add two S5s and four 2s
(Use punctuation marks)

(A) Dot your is and cross your
t’s; then add two 5’s and
four 2’s.

(B) Dot your is and cross your
t’s; then add two 5’s and
four 2’s

(C) Dot your i’s and cross your
t’s; then add two 5’s and
four 2’s.

(D) More than one of the above

(E) None of the above

99. ‘Moonlight’ is a compound word
that is formed by
(A) noun + noun
(B) adjective + noun
(C) noun + gerund
(D) More than one of the above
(E) None of the above
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100.

101.

102.

‘Red-hot’ is a compound word
that is formed by

(A) noun + noun

(B) adjective + adjective

(C) noun + gerund

(D) More than one of the above

(E) None of the above

He who has suffered most in
the cause, let him speak.

The correct sentence is

(A) Let him who has suffered
most in the cause speak.

(B) He who has suffered most
in the cause should speak.

(C) Let him speak as has
suffered most in the cause.

(D) More than one of the above

(E) None of the above

What a terrible fire this is (Use
punctuation mark)

(A) Full stop

(B) Exclamation mark

(C) Question mark

(D) More than one of the above

(E) None of the above
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103.

104.

105.

He broke the glass.
the underlined
intransitive verb)

(Change
word into

(A) The glass was broken.

(B) The glass breaked.

(C) The glass broke.

(D) More than one of the above
(E) None of the above

I am reading David Copperfield.

(Point out the tense used in the
underlined part)

(A) Past continuous

(B) Present continuous

(C) Future continuous

(D) More than one of the above

(E) None of the above

Why did your brother write

such a letter? (Change into
passive voice)
(A) Why was such a letter

written by your brother?

(B) How could such a letter be
written by your brother?

(C) What made your brother
write such a letter?

(D) More than one of the above

(E) None of the above
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Directions (Q. Nos. 106 to 110) :
Choose the most appropriate meaning
of the underlined idioms or phrases
given below.

106. A bolt from the blue

(A) Sudden calamity

(B) A strange person

(C) Blue sky

(D) More than one of the above

(E) None of the above

107. Do away with

(A) To obey

(B) To do honestly

(C) To destroy

(D) More than one of the above

(E) None of the above

108. To cast a slur on

(A) To praise
(B) To blame
(C) To accuse
(D) More than one of the above

(E) None of the above
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109. To be at sea

110.

(A)
(B)
(€)
(D)

(E)

Known

Confused

Forced

More than one of the above

None of the above

In almost no time

(A)
(B)
(€)
(D)

(E)

Quickly

Hardly

Lately

More than one of the above

None of the above

Directions (Q. Nos. 111 to 115) : Fill
in the blanks with suitable words.

111. He has been ill _____ Tuesday.
(A) for
(B) on
(C) in
(D) More than one of the above
(E) None of the above
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112.

113.

114.

115.

She writes a pen.
(A) with

(B) by

(C) from

(D) More than one of the above

(E) None of the above

The car was
40 km/h.

running

(A) on
(B) up
(C) at
(D) More than one of the above

(E) None of the above

He died = cholera.
(A) from

(B) of

(C) with

(D) More than one of the above

(E) None of the above

There is a
residence.

river my

(A) to

(B) at

(C) beside

(D) More than one of the above

(E) None of the above
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116.

117.

“Yesterday 1 saw the film
Macbeth. 1 found the story
interesting. The film’s hero,
Macbeth, assassinates King

Duncan and ascends the throne
of  Scotland. But he is
dissatisfied. He finds himself
in a dangerous situation. He
executes those he suspects of
plotting against him. Eventually,
some of the lords revolted and
dethroned him and killed him.
The message it conveys is that
excessive ambition destroys a
man. The actor and actress who

played Macbeth and Lady
Macbeth had exceptional
performances, which signifi-
cantly increased the film’s

impact.”

The extract is an example of a
(A) film review

(B) summary

(C) paraphrase

(D) More than one of the above
(E) None of the above
Delineate the qualities of a good
paragraph.

(A) It has to be short

(B) It has to be precise

(C) It has to be to the point
(D) More than one of the above

(E) None of the above
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118. Read the extract given below :

Student :

Teacher :

Student :

Teacher :

Student

Teacher :

Student :

Teacher :

Student :

Good morning Sir, how are
you?

I am completely fine. What
about you?

I was wondering which course
to learn in my vacation.

It can be confusing with so
many options online. You
should make a list and
narrow it down as per your
interest.

. I have tried that but still I am

left with three options—
Artificial Intelligence, Machine
Learning or Data Science.

Well! All of them are very
interesting courses, but as far
as I remember you have
always been interested in
Artificial Intelligence.

Yes! I do because I feel it is
our future.

Well then its no harm in
pursuing it and later if you
find it less interesting you can
always switch.

Yes it sounds like a great idea.
Thanks!

The above extract is an example

of
(A) a conversation
(B) a dialogue

(C) a monologue

(D) More than one of the above

(E)

None of the above
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119. Point out the error in the extract

given in Q. No. 118.

(A) Use of tenses

(B) Use of adverbial clauses

(C) Use of prepositions

(D) More than one of the above

(E) None of the above

120. bought / few / several / like /
medicines / items / vegetables /
kinds / many / of / a / and /
he / avocados. (Arrange the
words to make a meaningful
sentence)

(A) He bought a few items
like  medicines, several
vegetables and many kinds
of avocados.

(B) He bought several items
like medicines, a few
vegetables and many kinds
of avocados.

(C) He bought several items
like medicines, many kinds
of vegetables and a few
avocados.

(D) More than one of the above

(E) None of the above
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Note : English version of the instructions is printed on the First Page of this Booklet.
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